2 =
X =2x—y? 42y 5 AFRAFHEY, (x+ay)(x - by +c) 7F =it
ol W, a, b, cE T=AHE & A2




2. (a-b+c)(a+b-c)E AN A2

@® a*+b*+ c* - 2bc @ a* - b+ c? - 2bc
@aQ—b2—62+2bc @ a® +b* - c* = 2bc

® a®+b*+ 2 + 2be

B

(a=b+c)(a+b-c)
=f{a-(b-c)la+ (b-c))




3.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




x3 = 6x2 + 11x - 62 A5l 5FH?

O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@) (x-1)(x-2)(x-3) @ (x+1)(x+2)(x—3)
® (x=1)(x=2)(x+3)




19993 + 1

o) 1o
1998><1999+14 we

a = 19992t 5FH
1998 x1999+ 1= (a-1a+1=a?-a+1
. 19993 +1 a®+1
T 1998x 1999+ 1 a?—a+1
(a+1)(a —a+1)
- 2-—a+1
:a+1=2000




I ohahA] 13 32 4 2x, xt—4xd 4 4x2 O] Z| T ZeFot 2] ATl
27 f(x),g(x) 22 M, £(3) +¢(3) 2 k= 57

@ 18 @ 19 ® 20 (@)21 ® 22

¥ -3+ 2x=x(x-2)(x-1)

x—4x3 4452 = 22 (x - 2)°

Sf @) =x(x-2),8(x) =22 (x-1) (x-2)°
A fB)+g(3)=3+18=21




7.

/\]Tx yoﬂ tﬂﬁ]-o:}, %/—‘1] 2x+y—|—(x—3y)i:3+2i7]- /l(—)]a]aé__} EH,

of kg F5}?

<=

@ -7 B)-11

2x+y=3, x—3y=2 9]
U
=] 7 ’y_ 7
11
o Ty

y 7 1

B




2 T2

Fa+bo 7k

La+b=-10, b—a=0




9.

16a* — 250ab® 2] €157} opd 2429

@ a @ 2a-5b
® 2a(2a - 5b) @ 4a? + 10ab + 25b2
©)2a(2a + 5b)

(£4]) = 2a(8a® — 125b3)
= 2a{(2a)3 - (5b)?}
= 2a(2a — 5b)(4a® + 10ab + 25b%)




10.

7F=2] 207} xem, A 22] Ao)7t y em, EO17F zem 1 A-sHA A
x+y+z=10, 2 +y* +22 =462 ), o] FLHA ] Aylol= &
cm? Q1712

@ 45cm? @ 50cm? @54 cm?

@ 58cm? ® 60cm?

FA (x+y+2)2 =52 +y* + 22 + 2(xy + yz + zx) & ©]-85}
Fold 215 tASHA xy + yz 4 2x =27
BYolE 2(xy + yz + zx) ©| B2 54




11. o3 f(x) = x* +ax® +x+ 25 g(x) = 3 +bx+ 22 Ui YW A|7}
R(x) 2 Tk, g(x) @ R(x) O] HHEF57F x+ 2 W, ab O] gH2?

@9 @ 10 (@)12 @ 15 ® 16

B

1) = ¢() - 0x) + R(x) 1A

x) ©] Zejgorsor 2t

=16+4a=0,a=-4
=-8-2b4+2=0,b=-3
Soab=12




12.

Bag (1402 - (2+i)x-3-25 AFstd 59 4
_ETE]— Uﬂ, /\21—/1\" x_o,] %I%Q

@1 3 2 s -

8

(FA)=2*-2x -3+ (»* - x-2)i

o1RAE AFANA &9 457} HeE £olsololof sz

2_92%-3=0---O,x2-x-2%0---©
@A x =3, x=-1

o] ol X OF WEE AL .

L x=3

d7t oAl




S (x +yi)(z - i) = 102 TEoHE AAS x,y, 22 A4

o A2 Fatelet. (@, i— v-1)
> 4

> He: 3A

B

(xz4+y)+ (yz—x)i =10
xz+y=10 ---Q@, yz-x=0 ---©
O=0°l "y

y(z2+1) =10

(5, 5, 1), (4, 2, 2), (3, 1, 3) 374

B I1FOR Sol £ARE TR




14.

SA (2 =3x+1)+ (0 - 1)i = -1 + 3i2 WZ3H= A5y, yo
take] xy o 2AgE2?
®© -4 @ -2 ® -1 @ 2 ®)4

ARl 5|42 Lpzo] Azt
a2 -3x+1=-1 y°-1=3
x=1FE 2y =12

(xy©] 2Hgh) = 4




15.

(1+ V3i)(x —i) = 2(x+ i)

(x+ V3) + (V3x—1)i = 2x + 2i
Hap7t AR & 270 95t
x+ V3=2x, V3x-1=2
Lx=13




16.

V_l)

@ 0 OF ® 4 @ 5 ® 6

B |

z=1+4i°|B&2 7 =1 —4jo|t}.

Foi7 S4)9) 2hag Jesha

X210 +y(1-i) =%2=1) +y(1-)
=x(2+1i)+y(1-1i)

x2+i)+y(l-i)=1-4i

2x+y)+(x-y)i=1-4i

Basrt E 2e 2704

2x+y=1x-y=-4

A= AL AP ERA x=-1, y=3

Txty=2




P =-12 0, (n+i)* o] B57} HES b 44 n o] A

oM @14 @224 @sAH  © 4

B

(n+i)* = {(n+0)%}° = (> = 1 + 2ni)?

o|Zo] A&7t B W n? — 1 4 2ni 7} A5} HAY £35]571
E]ojof gt

jn=04d o 44

i)n?-1=0,n=+1 4 A4

uteta] Fohe A40] e 370

B

(n+i)*
]7—] o]

=n*—6n% + 1+ i(4n3 - 4n)
AZolHH 4n3 —4n=0,n=0, £1

W (n+0)! & BE B HER, (n+i)t o] H5TL HES
o}— 4= n o] /4= 3 At




18.

B4 x=a+bi(a, b= A5) 7 X2

W atb o) 22 (T i= V1)

D1 @ 2 3)3

=34+4i, 3 =2411i &

a
pd

=5}
=%

~&B

B =x2xx

= (3+4i)(a + bi)

= (3a—4b) + (4a +3b)i
(3a—4b) + (4a+3b)i =2+ 11i
3a—4b=2,4a+3b =11
na=2b=1°E2 g+b=3

~&B

3
x:x—2:a+bi
X
2411 (2 + 11i)(3 — 4i)
3+4i (3+4i)(3-40)
50+ 25i
25
= Dk
S.a=2,b=1







77=12 U&= Bhg gy, ol ot 1 +22=2< W, z1 - 2o
—
pu—

%42} 2y, 2 ©) e asolth)

O @ 2 ® 3 @ 4

® 5

z1=a+bi,z=c+di
(a, b, ¢, d =AF) 2 EoH
Zi=a-bi,7z=c—di /B2

7121 = 1 9A
aZ+p2=1---0
72-22 = 1 9|A]

A+d?>=1---©
antzn=2Na+tc+(b+d)i=2
Ea57t A2 2E 2700 &sto]
a+c=2,b+d=0

0-0% 34

2=+ -d>=0

(a+c)a=c)+ (b+d)(b-d)=0

J-H b+d = 0°1B2 (a+c)(la—c) =0
ca=-cErEa=c
Jddla+c=2°ERag=c=1

A, O%Na=c,c=12ZZQUsIHd=b=0
etk 7 =1,z =1°]E&

21°22=1




21.

(x=1)(x -

3)(x = 5)(x - 7) + a7} o A4l o] A Fo] HEE 40|

e Qotd?

D 4

@ 8 @ 12 @ 15 @16

~&B

(/K]

o17]

(&4

HN

J=
A,
)

b a = 16

(x -8x+7)(x>-8x+15)+a
P -8x+7=XZ2 EgO0H
=X(X+8)+a
=X>+8X+a=(X+4)?%+a-16




a4—612
22. ala+1)=1¢ o, mﬂ 27

1 1 1
@1 @ 3 ® 3 D)

(S

~&B

ala+1) =194

a’=-a+1

at=(-a+1)?=d’>-2a+1
=(-a+1)-2a+1=-3a+2

ab =a*xa® = (-3a+2)(-a+1)
=3a*-5a+2=3(-a+1)-ba+2

=-8a+5

at-a® -3a+2-(-a+1)

as—1 -8a+5-1
—2a+1 —2a+1

—Sa T A(=2a+1)

4




L TR £(0) S x-22 RSl Wo] $2 0(x) 2 st L}MH

130, 5 0(x) 8 BHA x + 302 Lpew Lhex]7} 3]}, ol f(x)
%x 302 1/]'—7— L]-EHX]L‘?
©w @10 o9 @ -9 ® 8

Uz Ao o5 f(x) S x4+ 3282 Ui U= f(-3) o]t}
f(x) = (x=2)0(x) + 5°1A4

r= 38 oHE £(-3) = (-3-2)0(-3) + 5

0(x)E x+32= UF3l& mo] UymA|7} 30|82 Q(-3) =
s f(=3)=-10




24. xy(x-y)+yzly —z) + zx(z - x) = AFEfSHH?

G?—@—W@—@@—@ @ ~(x+y)(y-2)(z-x)
® ~(x=-y)+2)(z-x) @ ~(x-y)y-2)(z+x)
® ~(x-y)y+2)(z+x)

~&B

Z )= xy(x - y)—I—zx(z x) +yz(y - 2)
yx% = y2x + 22x — 2x® + yz(y - 2)

—~

-2 -0 -2)x+yz2y - 2)
G- -0+ -)x+yz(y - 2)
- - +2)x+yz)
O-2)(x-y)(x-2)
~(x=-y)y-2)(z-x)

N




M %4 a, b, c7V a® + b® + 2 = 3abcE WZAZL W a, b, cE Al

25.
e = L V3 _
%ﬁioh:ﬁﬂ%ﬂ%?mrifﬂﬂiaﬁk0M%a+b+cﬂ
& Fotofet.
> £
> Het: 3

B

a® + b® + ¢ - 3abc
= (a+b+c)(a®+b?+c? —ab-bc - ca) = 04

a>0,b>0,¢>00B2 ag+b+c#0
a2+ b2 +c2—ab-bc—ca=0

;@-mhuuwﬁ+@-@%=o
~a=b=c(.a, = A=)

metA a, b, cE Al HIOE




26.

1222 43242 4 52 — .. + 992 & AAlstofat,

@® 99 @ 100 (3)4950

@ 5050 ® 10000

B

12-22 +32-4%2 + 52— ... + 992
=992 - 982 + 972 - 962+ .- + 32 - 22 + 12
= (99% - 98%) + (972 - 96%)+

ce 4 (3222412
= (99-98)(99+98) +(97-96)(97+96) +- - -+ (3-2)(3+2) +1
=(99+98)+ (97+96) +---+ (3+2) +1
=1+2+3+---+99
=(1+99)+(2+98) +---+ (49 + 51) + 50
= 4950




27. A% a, b, col WSt [a, b, ¢] = a® + bee} S} x +y +z = 10,
¥ 4y?+ 2 =129, [x, 2y, 2] + [y, 22, x|+ [z 2x, y] & 27

@ 10 @ 22 ® 88 (@)100 ® 144

~&B ~

[x, 2y, z] + [y, 2z, x| + [z, 2x, Y]
=x?+2yz+y* + 2zx + 2% 4 2xy
=x? +y% + 2% + 2xy + 2yz + 2zx
= (x+y+2)? =100




TFaA] a2 + 4x + 2k 9k 22 + 3x + k9] HTFFSIL xo] th
A W), 5 k] FHe okl

1S n

Ct -
= -

>
> =g 2

~&B ‘

A=x>4+4x+2k, B=x>+3x+ k2Ll HA-B=x+k
A-BE _41311_1_01:/\ = o]—/l\—i 71-—1
Zoldl 24014 5 49 Arjgerart dRAolne
= o] AL x4+ kot
A, B AR x4+ kS A5 X DE
A9 x = -k & HYstHA
K2 2%k =0,k(k-2)=0
L k=0EFk=2
wfepd, gEEe) T 20l




xofl T Al ZHe] tFA] A(x) = x* —10x% +9, B(x) = x* —x3 - 7x% +
X+6, C(x) = x(x-3)( +a) - (x—3)(x* + b) + 8] AThBoF47
ojztA A W, a4 b 2] FH-2?

Ax) =x'=10x*+9=(x—1)(x+ 1)(x—3)(x+ 3)
B(x) =x*-x*-7x>+x+6
=x-1Dx+1)(x=-3)(x+2)
= chabAl o] YRR (x - 1)(x+ 1) (x - 3)
TR ] - 3.0 thol BolAA gromz
A chaale] Mookt (x - 1)(x + 1) oItk
SO C(+1) =0
L Cl)=-a+b+4=0,C(-1)=a+b+4=0
La=0b=-4%"a+b=-4




30. x*+ax+b, x* +bx+a o HHFTAFT} x O] AL W, HA

HH/\I_(?
O (x-2)(x—a)(x-b) @ (x+2)(x—a)(x—b)
® (x+1)(x+a)(x+b) @ (x+1)(x—a)(x—b)

@(x— (x-a)(x-b)

of

B

2tax+b -0
2 +bxta- O

Q-© : (a-b)(x-1)

Q, © M a#bolB2 A4 x-10]eh
l+a+b=0,a=-1-b,b=-1-a

o] ff, @ x? ~(14+b)x+b=(x-1)(x-b)
O2x-(1+a)x+a=(x-1)(x-a)

714, a % b o182 x—a S r—p & A2 olek
webAl, FoHs HABHSE (x- 1)(x-a)(x- )




